VCE & PDF https://www.passapply.com/e20-377.html
2024 Latest passapply E20-377 PDF and VCE dumps Download

PassApply.com

E20-3779%4

RecoverPoint/SE Specialist Exam for Implementation Engineers

Pass EMC E20-377 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/e20-377.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

E20-377 Study Guide | E20-377 Exam Questions | E20-377 Braindumps 1/3


https://www.passapply.com/e20-377.html
https://www.passapply.com/e20-377.html
https://www.passapply.com/e20-377.html

VCE & PDF https://www.passapply.com/e20-377.html
2024 Latest passapply E20-377 PDF and VCE dumps Download
PassApply.com

QUESTION 1

A SMC user must have the ability to create new SMC users and assign permission. This user should not
have any Symmetric configuration or replication privileges.

Which role should be assigned to this user?

A. SecurityAdmin

B. Auditor

C. Admin

D. StorageAdmin

Correct Answer: D

QUESTION 2

The necessary infrastructure is in place for application restart at a remote site. What is the primary impact to the
customer of a single-hop SRDF/AR solution compared to SRDF/S?

A. Increased RTO with SRDF/S

B. Increased RPO with SRDF/AR

C. Increased number of links with SRDF/AR

D. Decreased network bandwidth is needed with SRDF/S

Correct Answer: B

QUESTION 3

TimeFinder/Snap virtual devices will be used as the control devices in an Open Replicator implementation. What should
be the state of the virtual devices to create an Open Replication session?

A. Held

B. Not Ready

C. Read Write

D. Write Disabled

Correct Answer: B

QUESTION 4
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While implementing a new Symmetrix solution, the customer requests that five new hosts be added to the
project. This is outside the scope of the project.

Which step needs to be taken?

A. Ask the account executive to modify the statement of work.

B. Implement the new hosts as requested by the customer

C. Notify the project manager to create a change request

D. Notify the solution architect to redesign the solution

Correct Answer: C

QUESTION 5

What is the result of performing a TimeFinder/Mirror consistent split operation against a device group?
A. All BCV devices in the group are consistent point-in-time copies.

B. All standard devices in the group are consistent point-in-time copies.

C. BCV devices are write-disabled and ready for synchronization with standard devices.

D. All standard devices are write-disabled and ready for synchronization with BCV devices.

Correct Answer: A
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